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Reminder from 14.6 notes, Normal Dlstrlbutlon:
The Empirical Rule states that about
% of the data is within one standard
deviation of the mean.
ﬁﬁ % of the data is within two standard
deviations of the mean.
m% of the data is within three standard

deviations of the mean.
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2. The mean of a set of normally distributed data is 128
and the standard deviation is 4. Sketch a graph of the
situation.
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WY and the standard deviation is 8. Sketch a graph of the | State answer to parts a-b by referring to graph. No work!

1. The mean of a set of normally distributed data is 75

" 0\[0/( situation. a. What percent of the data is in the interval 116-140? |4

b. What percent of the data is in the interval 120-136? @
XOW Refer to the graph, then show work for parts c-d .
C)\m‘ﬁ ¢. What percent of the data is in the interval 128-136" ‘Lr? -@,
W d. What percent of the data is in the interval 124-128? ﬂ, 31,

= ¢ . l L Use a calculator to solve e - h, write notation that you use
L]

1 ] o
T ' 4 5 ¢ i e. What percent of the data js jn the interval 125- 131‘?
WA o 9 A 9 ﬂDWV‘d.lCA(i ﬂ%;\-’»l 128, 4
L e . f. What percent of the ata in the mterval 118- A
State your answer to parts a-c by referring to the graph. normal “;3 \3 \ L84 =
=, No work to show! : 680( g. What percent of the data is above 1337
a. What percent of the data is in the interval 67-83?L_;. vormaled v (123 j1oc0 w?,u)ﬁ

c¢. What percent of the data is in the interval 51-997 ‘I‘;’I? i. What percent of the data is above 121? l00% =Y.
No calculator command, show work using answer ﬁom part

e T % t of w 1217
b. What percent of the data is in the interval 59-91’]i2,___°_ by Wit percilomadﬁa( i}’; o\ 2! WS’ q)
0i% = W‘Z

3. Enter these quiz scores into a calculator: 14, 18, 16, 20 22 18 19, 20, 25 18, 16, 18

a._State the five-nun iy i -3
\}_t,ﬁ L4 ® \ Yy
\K,\‘( b. Sketch a isker plot : : : - : : :
&/ 14 1A 1R 2n 29 24 2R
4. Enter the following values into a calculator and sort.
8 23 11 34 35 12 15 47 51 61 56 48 check answers #3-4
12 35 62 49 47 28 44 68 35 42 53 1/;/1;3’/7«.4‘5;9/20’
3809
a. Complete the frequency table, then sketch a histogram. / / / }7&2/ /?6/ _
b. Create a stem-and-leaf plot. a-
c. State thelmean, mediﬂimode,s andMn e | R
£
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& 4 - 0-10 [ l | tz29
] 10-20 Y z | 39
- __~\_T o 20-30 2 3 | 4G92
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] S 30-40 q y | @uT7eA
z 1 | 40-50 b 5 | 1%
s 50-60 3 ¢ | 123
— 60-70 9
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5. A pair of number cubes is thrown. Find the probability that 1/213/(4/516
the numbers match (doublles)Lgiven their sum is g;ea;ez than 8 123 l¢l9] 7
P(m{1h|$wm?3)::.._—- = J | 7 ;
; o) 5 oo | 2 (‘l 9167 %
6. A pair of number cubes is thrown. Find the probabﬂ?tgcll‘}at.tch‘epu \ 3I419/611719[49]

sum is greater than 8 giv that the numbers match. . 4 57 Li1l% q lio
PGun>$ [ratun) = 2, :i_L \ Wwe 25 T [ B

! el N

B (2 e [8801%) [6 ]84T0l 0 fia)

7. Write your calculator command us1ng binompdf or binomedf, then state answer as a percent for the
following conditions: A weather report is forecasting a 60% chance of rain for the next 3 days.
1 1 1

a. What is the probability of it raining exactly 2 o t three days?
bivamph{ (3,.6,2) = {422%
2 /13

b. What is the probability of it raining at least 2 of the next three days? 5721 1320 1}6

o hmmwtc( b, l")'\_/ W? wﬂ;\' Landk 'J}ggl/o 25.47%

c. What is the probability of it raining no more than 2 of the n‘gxt tﬁee dayspf WE39% 64.8% }‘M%

mutually exclusjve
b\mMP(%J ,L,ifz) ol |"l‘3,t§ ] net-mutuatly-exelasive
8. Write your calculator command using binompdf or binomcdf, then state answer as a percent for
the following conditions: A pop quiz has 20 true-false questions and you are not prepared for it.

a. What is the probability of randomly guessing and getting exactly 10 questions correct?

Dinem AF(%;L}, 103 - ]7.&737/3 -
% )

b. What is the probab111ty of randomly guessing and answering at least 12 questions correctly

S0 you can carn a passmg score? :
1 —inemed§ (20,5 ) 2[26.17%, ) Ly - T
swWricA-ofE \\ Gnd \peow 4o Wep L 2 2B o

9. A bag contains 4 yellow and 10 red markers. Four markers are drawn at random w1th0ut replacernent

check answers#5-14

wR- What i \1& theénrobabll of drawmg 2 yellow markers and 2 red markers? L JJL,,_p / % V_’,\ 4 4\ 490

oy b e ] et

ot %“3,.?;__—— z L2 208, G7d, e .*« vz W/ 24
v\%" | C g ool {pay |~ StLlR wliatys
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W Using a standard deck of playmg cards, how many 5-card hands are possible that have ( .

f: ds and 2 7 =
éacecar s and 2 aces® g ‘{C = ZZD(G:>

maw fre  we =(1320 | \
any d erent ways can the letters in the word lollipop be arranged? ey A
YS\ = B ol \Lie e
W EVED 24 [ Harbe
12. A (tlt%@\mber cube is rolled\twice. Find the probability o g a 6 on the first toss@ e

WY W
an o ber on the second toss. W T - TR <\ LR

W
OMA o
/S . . "“F ¥

tate if each event is mutually exclusive or NOT mutually exclusive, then solve th
13, the probablhty of selecting a card from a standard deck and it is a.k.m.go

LG T R ey o
7 14. the probability of tossing two number cubes and gettmg a sum greater than 6 Or an even sum.

Nof” oXMSINE P (sumrt) P Logm) — 0 (boke) = e 7 q{b :%/‘a
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15. Standard automobile license plates in California display a nonzero digit, followed by three letters,

followed by three digits. How many different st d plates are possible in this system?
v 2% - ‘2 -1 - D10 —
A %2 % ____LE_:__ = 159,124,000 |

non-ue Aigi+ | eAdees dias b CHECK ANSWERS #15-27:
16. How many different ways can sipred balls, five white balls, 066% 31.744% 32.92%

and seven blue balls be arranged in a row? y . 0
eminder - m = (q’-;p;%gg 3?.96% 79.01%  86.83%
e —V( o

Wse P )(W_R — 60 270 990 1365
17. How Thany vﬁys can the le in the word banana be arranged? 11

Whén vz ( 110,544 2,598,960

A s 72130 = Lo ‘ 14,702,688 158,184,000

#18-24 Combinations/Permutations: use C(n, r) or P(n, r) and solve with a calculator. Show your set up.

18. How many ways can a president, vice president, and secretary be chosen from a class of 49 students?

Ha P@ : 6‘06&6‘?{ Aites = W’\'k}'ﬁ o

19. A pizza parlor offers a choice of 15 different toppings. How many four-topping pizzas are possible?

{ Cy = V3565 —_ Cormz\uion V'F’tb]vf? S, ovisr

&1y e B

20. How many fjve- be dealt from a deck of 52 cards? /I are. \\M On pizza s
5&66 2 548,%0} i \é”“f";j \ iy fcact

21. How many ways can first, second, and third prizes be awarded in a game with eleven contestants?

nP'.‘a"':‘1 _O:M T;—_?'DMGM (Chwgna’ne order —C:r_t:?fésd-ﬂﬂud WW

22. A bag contains 4 yellow and 10 red markers that are drawn without replacement. How many ways can
four markers be selected if exactly two must be yellow?. . .So A he efier 4o ymusk be ved

b ‘“SA e @
23. A bag contains 4ufellow and 10 red markers. Five markers are drawn without replacement. What is the

probability 8‘ drawing 2 yellow markers and 3 red markers? Express answer as a percent.
I.T

deid —> C;) \DC§> -Ca&'dﬁwmej o !35_%,%)
O¥%24. What is the probability o ge%:tting a S-card hand that contain 2 aces? Express answer as a %.

¥s aces
\"i‘_"‘g’_'c"_ci_ = . 00D6L ,:y{.oee% ’
_____________________ 52 % ol

Shngle Spuce Arom ey ¥(
25. Conditional Qrobabilig:m;ﬁ%aﬁw tossed. at is the probability that the sum of the

numbers shown on the cuhes js Iess than 6 given that at least one cube shows a 1. Express answer as a fraction.
2345 LT Z34 8)61
P
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26. The probability of Brooke making a free throw is 2/3. Find each probability if she shoots five times.
a. P(exactlyi made) b. P(at most 4 made) - c. P(at least 3 made) -
\ &=, ), A b3 y A4 &, A
{Olmm}od-g (5; 3, "0 X2z, b\mm?i( 5% 1 hhm(6* ? ,7-)‘

S ’
27. A weather reporter is forecasting a 40% chance of e ext five days: ek Plo) ¥P(1) +e(2)

Find the probability of having rain for 3 or more days. &/’_\\ .
1~ binsmedS (6 M Y ‘5\-’14‘#"20 } 3 or ez Hume 45

n
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28. What is the probability of drawing one car rom a stangard f
( Cioe\ xR(Sfed)

M\usx
gemm a Spad, '3«‘"

’?(Jﬁob&éq%) _‘_L 2 _L =lb -

2

29. What is the probability getting a sum of 9 on the first throw of two dlce and a sum of 3 on the secon toss

Woumd)s P(Bum™) =

30. What is the probability gettlng a sum of 9 or a sum of 3 if you roll two dice?

31. The mean of a set of normally dlser:llgute

\3"‘

U om®) +?A(5wm3) = %;4’2; s :-

test scores is 72 and the standard deviation is 6. Sketch a graph.

%b D'rq

Use a calculator to solve parts d - f, write the notation
that you use. Round your percent to the nearest tenth.

)-807

d. What percent of the data is in the i
nwa\cdwci 60, 90,12, 0) 2 [886%

Refer to your GRAPH, then state the answers to a - c:

e. What perce?t of the data is above §
a. What percent of the data is between 54 ? formal it (1 [OD,Q\,[‘?‘_E) g
+ 3¢ so.,qq1L v

b. What percent of the data is between

t20 ¥2 49/p =
c. What percent of the data is be -
£l =(b% {o

CHECK ANSWERS #28-31: 4
13

L
6 162

f. What percent of the data is below 75?

porvnal cd€ (-iooo , 15,12, 6y %\ 9.9

4M@ﬂﬂUiM¥i£&2L_

1 67% 68% 69.1% 47.5% 88.6% 99.7%
6

32. Use your calculator, enter the values into a list, sort, and then use 1-Var Stats.

82 77 84 98 98 71 76 64 89 95 78 89 65 88 54

9% 87 92 80 85 93 89 50 7 9 62
: 15, %49 4o, 44 1
a. List the ﬁve-numbelt summa: mm. 2 R Mg Q JNOTE:
b. Draw a box-and-whisker plot . 50-60 same as
9‘0 Her? o 449 50 < score < 60
T , : : ; o test scores | frequency
50 60 70 80 90 100 W40 | 2
i , ; = Lo-10 M
c. What is the arithmetic mean of the test scores? X x 10-80 b
d. What is the standard deviation of the test scores?g” = (2.0 P40 10
e. What is the mode of the test scores‘?{ %4 'W‘A’ L b i
f. Construct a Sfrequency table of the data. J
g. Make a stem-and-leaf plot of the data. ste;m leat
h. Draw a histogram of the data with \ oY Y
intervals of 10, starting at 50. e |[2215 q
4 TIL5LTY
e § 1024567911
45 9 l02%96%%4
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7|1 means 71
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#32 CHECK
ANSWERS
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13.1
50
75

81.1

84.5
89
90
99

50-60
60-70
70-80
80-90
90-100
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